G

1.

X1

Goods which are consumed together are called

(A) Consumer goods

(B) Substitute goods

(C) Capital goods

(D) Complementary goods

World Water Day is celebrated every year on
(A) 22" March (B) 22 February

(C) 30* May (D) None of the above

Some boys are sitting in a row. P is sitting
fourteenth from the left and Q is eighth from
the right. If there are six boys between P and
Q, how many boys are there in the row ?

(A) 28 (B) 30

(C) 26 (D) 27

Recently, a new digital payment mode was
adopted which is person-specific and purpose
specific payments system. It is

(A) e-RUPI (B) BHIM
(C) CLASS (D) e-RUJU
Dog : Kennel :: Horse : ?

(A) Shed (B) Aviary
(C) Farm (D) Stable

The far point of a myopic person is 80 em
in front of the eye. What is the nature ap
power of the lens required to correct +
problem ?

(A) +1.25D, convex lens

(B) —1.25D, concave lens

(C) +0.8D, convex lens

(D) -0.8D, concave lens

KYC compliance is a mandatory exercige
under the prevention of

(A) Money Laundering Act, 2000
(B) Money Laundering Act, 2001 J
(C) Money Laundering Act, 2002 g‘
(D) Money Laundering Act, 2003

Consider the following statements abo i
Health Card Scheme, e

a Itisa Govebmenntef India’s scheme
promoted : artment of Agri
and Co-operation under the Mmm
Agriculture and Farmers Welfare.

b. It is used to assess the current statug of
soil health and when used over time, to
determine changes in soil health that
are affected by land management,

(A) Only the statement a is correct

(B) Only the statement b is correct

(C) Botg the statements a and b are correct
(D) None of the above
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(A) 28 (B) 30
© 26 (D) 27
T € H, e T Rsfiee yiar @ ade st
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(A) e-RUPI (B) BHIM
(C) CLASS (D) e-RUJU
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(A) +1.25D, 30 &g
(B) —1.25D, 319qd o
(C) +0.8D, 3q¢1 oid
(D) —0.8D, 31add ©ig

¥, 6. IrueE i

VFAT ¥ q8d U 7T NI 2 | %

(A) "y 3w, 2000 .

(B) wAwya 3rfrfem, 2001

(C) wwtyA 31f¥fiem, 2002 ,
(D) waeye Afrfem, 2003 .
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9. A boy rode

10.

11,

Directions (12 - 14)
information to answer the questions given below.
Eight students A, B, C, D, E, F, G and H arr

planning to enjoy car racing. There are only *
cars and following are the conditions :

5

I1.

III.

IV.

12.

18.

his bicycle nopt
turned left and moved 1 km anci1 :

left ang rode 2 km
- He found hj
3:_16: km ‘Wwest of his starting po?:tw}fm
id he ride northwards initially 9 .

@) 1km (®B) 3k
© 2km ) 5km

CMOS stands for
(A) Cathode Metal Oxide Silicon

(B) Complementary Metal Operating Silicon
(C) Cathode Metal Operating Silicon
(D) None of these

Within the meaning of provisions
Section 41 C(1) of the Cr?minal Proc;ggg
Code every State Government shall establigh
a Police Control Room (PCR) in
(A) Every district

(B) State level only

(C) Both district and at State level
(D) State Secretariat only

: Read the following

ards, the

One car can accommodate maxir . five
and minimum four students.

A will sit in the same car in whic ) is sitting
but H is not in the same car.

B and C can't sit in the same car in which D
is sitting.

F will sit in the car of four people only along
with A and E but certainly not with G.

If E and A are sitting in the same car, which of
the following statements is true ?

(A) B is sittingin the same car

(B) Five students are gitting in the same car
(C) G is not sitting in the same car

(D) F is not sitting in the same car

i i ts
Which of the following statemen
is superfluous for the above sitting

Bain tyrpeq

ow fay

1L

=

wd &
I
IL

II1.

12,

13,

arrangements ? @) Only1

A) Only II
EC; Only IV (D) Only 11

10.

Rwnfdw 12 - 19) .- R A gma=
e 3t A=t g o st % W A
s foadiA, B, C,D,E, F, GslH#RAT =
TG T I AT a1 & # | St A v & i Preferfa

CMMS - s3

=1 | 39 A W A A

) 1. (B) 3%,
(€) 2 .. D) 5 f 1t
cMOS & feigsmg

(A) Feire Hea rrFaTse e

(B) ieciied #ee ATaRfen Risfiwiy
(C) e tzer Rfen Riefei

(D) T & HI$ &

7z wfswar dfear it awr 41 @ (1) % 727 yEurEl
TG §&@N |

F 9 & Aald, TAH
ua gferg o e (Frfiem) wenfa st |
A) & et

(B) Fael T™°Y &

() T forem 3k 58 'MW
®) Faa T gfeae

| ADEBE MR KO

. O FR H Fftean gig et < faremd an
gHd § | P

A3t wr A 93w el D a1 W H 3@ &R
LEGA . e

B 3 C v dt oo i i Az v i D AT R )
Far &l areft #r 8 33m et A SE F |y
S Rt s d 6% a7 |
‘lﬁEaﬂtAwif’lmﬁﬂéﬁ,ﬁﬂﬁf@yﬁﬁ
- FYT g R 7

(A) B #RH AR K

(B) gief foremeff seft e A 43 & ~

C) Gfimndadidar e

D) F3dt &R ¥ 7 q21 ?

IF o sygee ¥ day A Arefeiad § 4 FA-
W aifafEa @ ?
(A4) FFe 11

(C) & 1v

(B) & |
(D) Fae 111

X1
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14.

16.

16.

17.

18.

19.

20.

X1

same car, Who are

IfH and G are sitting in the the same car ?

other two students sitting in

dD
(A) Band C (B) Ban
(©) Cand D (@) Eand B

India’s tax system i8 regressive with heavy
dependence on

(A) Loans

(B) Direct tax

(C) Indirect tax

(D) Commercial tax

Find the value of X.

(A) 299 (B) 399

(C) 298 (D) 308

The sides of a triangle are in th- atio
| I T | :

E : EI agu;l its perimeter is 17 ;. The
length of the longest side is

(A) 52 cm (B) 48 cm -
(C) 32 cm (D) 26 cm Eg

South Asia Seas Programme (SASP) was
adopted in

(A) 2000
(C) 2010

(B) 1995
(D) 2001

The long ridges of deposits of glacial till ia
called as

(A) Moraines (B) Eskers

(C) Cirque (D) Drumlins

“Climate Change 2021-The Physical Science
Basis” presented by

(A) Intergovernmental Pane] Climate
Change (IPCC)

(B) World Trade Organization

(C) UNESCO

(D) UNICEF

A=

14.

15.

18.

19.

20.

CMMS..S

WﬁHaﬂIGmmﬁﬁt,am -
TR I el Ay iy

3 |

(A) B3RO (B) B

(©) c3hrD m:{‘;’
mﬁﬂﬁm_______wm
fnfean & w1y v @

(A) =

(B) T & ST
(C) ATTH T 6 ¥

2
T GRETT 104 At B | e w A e

(A) 52 At ®) 8%

(C) 32 {ft () 26%M

e eRrm T o wre
WFHT__________ifEQ |

(A) 2000 (B) 1995

(©) 2010 (D) 2001

Rt & P o) oiaft e weei
(A) Anrea ®) @A i
©) @) e
T S 20217 Rl awE E —
(A) TR e gl (A

B) Fe€ 27 siifEsym

(C) UNESCO

(D) UNICEF |
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21.

operations on the data made avaﬂah]ﬁtojt_
(A) Input unit

(C) Output unit

(B) Storage unit
(D) ALy
In this question, two statement
followed by two conclusions,
conclusion(s) which best fit(s) 1031,:&11},_
Statements : _
1. Some plants are trees oy
2. Some leaves are trees @
Conclusions :
L. Some leaves are plant
II. Some plant are not tree
(A) Only conclusion II follows
(B) Only conclusion I follows
(C) Neither conclusion I nor II follows
pes (D) Both conclusions I and II follows

=)

28. The eighth term of the G.P. {2, 8,
¥

3J2.3/6is ﬁ JG— :ﬁ—fﬁfﬁ*

@) 272 ®) 96
(©) 276 D) 27

Mass of living matter at a trop}
area at any given time is callc
(A) Primary productivity
(B) Secondary productivity
(C) Standing state
(D) Standing crop

Who was known as the founder of the
Mamuluk ?

(A) Ala-ud-din-Khilji

(B) Iltumish

(C) Jalal-ud-din-Khilji

(D) Qutub-ud-din Aibak

Which of the following is not 2 t_’:laﬂ
of the interactive electronic white
(A) Touch-based whiteboard
(B) Pen-based whiteboard i
(C) Wii Remote, IR pen-baé
(D) Flat bed whiteboard

24,

26.

whi“b'”rd

8 are Biven
Chooge the

velinan

ificatio”
2

b~

28.

24,

25'

26,

%

21.

22.
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27. 1,880

i ' iddle an
ho% hor, 7 being in the 717 4
miﬂzeragiggff;:; 1738671
297317
906

) 4
(A) 8 EIB)) More than b
© 5

igh acity.
» the CPU l!::i ll::ﬁre least storage cap

cu
(A) ALU ®)
(C) Registers

2 P
9 & K \
q g q [3
A) (B)
3 Q e KQ e
7 g T
© o | 4
HQ e ul

30. What is liberalization of foreign trades ?
(A) The removal of trade barriers and

restrictions set by the government on

foreign trade X

(B) The introduction of barriers and
restrictions set b
domestic trade
The introduction of barriers and
restrictions set by th
foreign trade
None of the above

3L In Cyber Law terminology

‘DDoS’ means
m (A) Distant Operator Service

(B) Disc Operating System
(C) Distributeq Denial of Service

odification — ge.
(B) MOdem - Demodem

ulator - demodulator
(D) Modular — Demodylap

pers;
1 Of pum appea
In the following geries d 7 have 3

77173

4o within
speed storage units ¥

(D) None of the above

i iven
29. Select the correct mirror mllag:do:ttll;;eg:& 4
. figure when the mirror 18 p ac '

2l

y the government on

€ government on

217.

28.

29,

30.

3L

82.

M g,

et st s 1

337 g
ST d om § g My
Td a7 ML B

29731_1377—7133,1_7‘_335713111&

9086 * L
B) 4

(A) 3
© 5 D) 53 3fi

—— Hf 3 31 i gy
ﬁﬁm%mmmmg,
(A) ALU B) cu
(C) o= D) Y 334

ﬁ’ﬁﬂwﬁwaﬂaﬁwnﬁrﬂaqﬁmﬁm
@1 AB W@ S R |

2 P

(A) Q @)Q

® | 4

R(%)

36__9 g'?

fReft AR &1 I FIR

(A)armmaﬁaﬁ?mmygz
SR T TR g '

(B)qﬁiﬂmﬂf‘iw“mnl _
o St R R G

qT g it
(C)ﬁaxnaml{qt
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33.

34.

36.

36.

m(m Indexing

3

3

39.

om—

M

8.

40.

(A) Chennai
(C) Kolkata

(B) Kochchi
(D) Kandla

2.70x 2.70 + 4.30 x 4.30 + 8.60 x 2.70
=7?

( 2.70 +4.30
A) 6.8 (B) 7.0

Which enzyme degrade the Cellulose ?

(A) Apylasea (B) Cellulases
(C) Lipases (D) Lactases

identifies the text, links and
other content in the page and stores it in the
search engine database’s files. So that the
database can be searched by keyboard.

(A) Table (B) Inbox

(D) Draft

A technique in which the results of vir’
all previous studies on a specific su* e
evaluated together

(A) Systematic analysis (B) Scopu.g analysis
(C) Realist analysis (D) Meta-analysis
The number of straight lines that can be

formed by joining 20 points no three of ;vll;ich
are in the same straight line except 4 of them

which are in the same line

(A) 183 (B) 186

(C) 197 (D) 186
Viticulture or grape cultivation is a speciality
of the which of the following region ?
(B) Mediterranean

(A) Temperate
(D) Semi arid

(C) Arid
4122874215386217

how many pairs of successive
of 2 each ?

In the series 6
1413286
numbers have a difference

® b
A 4 o 7
©) 6

1=

SR 2 R '
v CMMS - S3

\ e VA v, 0
: : ° L% Gl
> 0 Y

33, 97 seUTE PR A SEUTR ¥ ¥ ot S

@R | ‘
A) ¥ B) Fifg 'V%
. [ﬁ (C) FIcTHTaT D) FrEen .
. 2.70x2.70+4.30x4.30+8.60x2.70
i 2.70 +4.30 =~
(A) 6.8 @By 17.0 ﬁﬁ
(C) 7.6 (D) 85

85. FH-TT URH Wegails F1 TR AU FAT 2 ?
(A) TS (B)
(C) =ImgaH D)

36. g | 2o, fore it o ammft ¢
& yEaH T & N S99 ererey # Brge
F verfta Fan @ a1l Serea &) A g @
naF |

(A) =@ (B) gaT
(© TR D) 3w
T Ul aeie e Bl e e @ amm

Fradt et vt 3 wftomy =1 v a9 e
frrsmrd |

&) Zafem favdvr  (B) @R fvdyw
(©) zurdard favdwn (D) Az1-Frveiyw

20 firgail ot fremt & w9 areht et Yot )

mﬂh$ﬁﬁ4aﬂﬁgﬁnﬂqmat@ﬁgaﬁ
T G e wfteft e o T 8

(A) 183 (‘B) 186 -

e a1 sim o et s
T SR 2 e 2

<

37.

38.

39,

|
(4) warsfieieor (B) YH=IETTY g
© 1= D) 5 o5
- *mmﬁ412287£3
S 1538621714132
869wt
" weEst & e g R R ot
(4) 4
il 'r
X1
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41

42.

45.

46‘

47.

48.

X1

ore loans

jon m
anks sanct! at the

Commercial B public than wh

and advances 0 the “
economy needs. It leads

(A) Currency inflation
(B) No inflation

(C) Credit inflation .
D) Deficit-induced inflation

' . ilitvy

The animals which have.t.he ab

to change the colour to hide them

from their enemies (ca;nogﬂage).

This protective coloration 18 called

(A) Adultry (B) Co_ml.nentry
(C) Mortury (D) Mimicry

The Keoladeo National Park is in the State of

(A) Gujarat

(B) Himachal Pradesh
(C) Uttar Pradesh

(D) Rajasthan

Sickle cell anemia is due to

(A) Mutation (B) Evolution
(C) Recombination (D) Transforma’

is the In-charge of a zon-
comprises few ranges.

(A) Inspector General of Polic

(B) Deputy Inspector Gener: olice
(C) Senior Superintendent of . olice
(D) Superintendent of Police

is used to communicate with the

computer by pointing to locations on the
monitor screen.

(A) Pointing device
(B) Wireless device
(C) Network device
(D) None of the above

Gradual increase in the average temperature
of the earth’s lower atmosphere is known as

<h

(A) Ozone depletion (B) Deforestation
(C) Greenhouse gas (D) Global warming
The Constitution of India was adopted on
(A) 26" November 1949

(B) 26" November 1952

(C) 26* January 1951

(D) None of the above

MMS - S3

41, R & ey
Eﬂﬁmmmmmm
— T, Wlmﬁ
&) Ty
B) whifa =8
(C) = wfify
(D) W~ whify

42. 3B N 39 et (wemamn) @ g 3 R ¢
mﬂmmtlwmmmﬁf
(A) TEed ®B)

(C) Wl ) fifth

43. hawied TN JuF fFa U= iR 7
(A) oI
®) fenre wew
(C) I W
(D) TeRAA

4k T ¥ s SFmame |
(A) Feafac ((g;ﬁﬁlﬂ
(ORSERIES b

& e s e & Forh o Aot
mn;f%lm
(A) LN
@) g IR
(C) v gfera rhes ..

O e b s R

46 % 5

: @%mﬁqﬁ;mﬁaﬁﬁﬁmm \
() wien R
ot
o semiaSAd
gt % frere e ¥ S

47. Feaml
o 8 6 408 — T g
ek 7 AT
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fﬁ:a% e A e T m
48. i e 1949
®) 261#“195:1
(© 26570 X
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49.

50.

51.
52.

53.

54.

55.

56.

o,
A &
e
. \ “é)
o 2 g Y 5 lbrg ’\A/\' g CMMS - 83“21
'i"'"’p Ty 4\)&' o e
5,28 Tt ikl M 4. i5.28/48, 71,114, 1851
1 » R i » y * W ] 3 .
Which number will come in the place of *'mﬁ'gﬂi A WFA ?ﬂmm?
questions mark ? A) 256 ®) 299
B 7" Ec; 351 ‘E)) 581
(C) 351 (D) 581 3 - <. N
Reproduction through spore formation is 50, —— o] AT L g
(A) Fungus (B) Protozoa o > A D) g = 4
(C) Bacteria (D) Arthropoda ( - Hﬁﬁ P, lﬂGE 25
The world’s oldest existing books printed | §1. ¥¢1 ¥4 BE AN Srefian @
with movable metal type N (SED = !@‘-!h-i H
(A) Emaki (B) Ukiyo-e (A) TTh! ] - B
(C) Biblia Pauprum (D) Jikiji (©) Tarfeeran 9ig™ (D) s
If 22.5 meters of a uniform rod weighs 52. dfe22.5 et Ueh QU B Hl 991 85.5 |maiﬁ‘!1?|“ fﬁ\’ !
85.5 kg, what will be the weight of 9 meters 2, 7t 36 TR ¥ 9 HieT o8 F a5 ;:TT . Sj-
of the same rod ? fem (B) 38.4
(B) 38.4kg (A) 42
& 542 ¥e (D) None of these © 34.2 Fem @) FaFiT e
POP stands for 58 POP % fom Sl 2
(A) Post Operation Protocol (A) 9= FTRIHA ﬁz}?ra m
(B) Post Office Protocol (B) TRz HiTHE Meihie ;
(C) Proper Online Protocol (C) TR AT Wil
(D) Post Online Protocol (D) 9N HAEATEA I AL
The term Secularism is first ¥ the | 54, Jagefam we w1 AW GETH fafen daF
British writer & ; 31851 & fan 4t |
(A) George Holyoake (A) SISt Breftan®
B) C.S. Lewis ®) . wa. dfaw
(C) Kazuo Ishiguro (C) T3t s
(D) E. M. Foster D) §. W, B
Which shows maximum catenation property ? | 85, FH-11 3Fan s 01 quta e ?
(A) Si (B) Se " (A) Si (B) Se
() C (D) Te ©) C @) Te
When the given figure is folded to form a cu 56. S %1 g T T
whi?:h number will not be adjacent to 2’ ? N ngﬁm Efai e B ?
5] ﬂlﬂ': s
412 T 2
: 1
3|6 [?-;
i e @) 5 ®) 3
5
%; 1 ) ® © 1 ) 6
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57.

59.

60.

61.

62.

63.

65.

X1

Cod 2, The
The surface area of a sphere 1° e

volume of the sphere i8

2 3
Zem
(A) 1437—;-01113 ®) 1793

ge
(&) 359% om? (D) None of the

(A) Internal bus (B) System bus

(C) External bus (D) Data bus ‘
The Article 324 of Indian Constitution
provides for an Independent

(A) Public Service Commission

(B) Election Commission

(C) Finance Commission

(D) Planning Commission

Petaloid bract present in which of the
following flowers ?

(A) Adhatoda (B) Bouganinvillea
(C) Palms (D) Banana

“Ain-Deeh-Sala” land revenue
system is also known as

(A) Military system (B) Zabtir

zm
(C) Religious policy (D) Zat .em
Chemical formula of hydrats ~ ,pper
sulphate is

(A) CuSO,.5H,0 (B) CuSO_.6H,0

(C) CuSO,4H,0 (D) CuSO,3H,0

In a certain code, ‘MONEY’ is written as
‘513141525". How is ‘BLACK’ written in that
code ?

(A) 1321112 (B) 1321012
(C) 1213112 (D) 1231112
‘SVEEP’, recently seen in the news, is related to
(A) Voter education

(B) Spreading voter awareness

(C) Promoting voter literacy
(D) All the above

In a group of persons travelling
6 persons can speak Tamil, 15
Hindi and 6 can speak Gujarati. [pn that
group, none can speak any other
If 2 persons in the group can mgf"
tﬁgm;ges and one hgeraon can speak a]| thg
€ languages, then how ma
there in the ggro\;p 9 Ny people are

© 2

iu a bug'
can speak

22
24

-10-
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61.

62.

63.

66.
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(B)

(C) Eaam’m

(D) AT AT

Terferiaa 2 five g 3 Yeciigs e g B @ 7
(A) FFraraT (B) amfAafafern

(C) U (D) Fen

o T orrett Qe e 2

(&) &fes ot (B) st omeft

(c) nfifs HAfd (D) v

el FIR T 1 THRAS 9 8

A) CuSO,5H,0
EC) CuSO.4H,0 (D) CuSO,3H,0
@5 1 “MONEY # 51341525 Rra a2,

v.-9 W ?
BLACK H AR (B) 1321012

321112
%8 1213112 (D) 1231112

g il SVEEP T R
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66.

67.

69.

10.

L

12,

3. The hormone produce

4. Music, dance an

Shri Ramla] urch
and SpeakerpRs_ g&'gdo':‘]TgaBet for R 12,500

Rs. 800 on installation, A: hag ot
. A allon ang
he sell it 80 as to earn an Ove?akila ;%ﬁ:t? ]fge‘:;l 2}

(A) 14,560 (B) 14,375

(C) 15,640 M) 15,375

Hi-tech and Ultra Modern 0 .
Hatchery is the only pmjec:tmmmemEll i

?Rl)nrg;ed gf the Govt.in North India
andigad 5
©) Nuh © o ‘é};ﬁ’i’;;t
The Article of Indian Constitut;

the Amendment of the Conatit::ii;e s
(A) 238 (B) 224

(C) 346 (D) 368

Recently launched PM-KUSUM Scheme
aims to help farmers to access reliable

(A) Solar Power

(B) Water

(C) Drinking Water

(D) Liquid Petroleum Gas (LPG)

Rivet popper hypothesis was pror - "

®) ¢ - tiumboldt

(A) Raman ey o

(C) Paul Ehrlich
the right of the 18" letter

itsell 17

Which letter is 7* to
from the right end of the alphabet ?

0
(A) K (B) &
o - dded to
The number which when a
times gives 162 as result, ;8 .

A 7 @) 10

©) 9 q during® cary situaﬁo“

in animals 18

(A) Adrenaline

(B) Oxytocin

(C) Thyroxin !

(D) Tri-lodothyromine
d fine arts 87
institution- d 1.lc,;t:i*fi""l

pomi°

ple of

(A) Social
(C) Expressive
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(A) 238 (B) 224

(C) 346 (D) 368
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76.

71.

78.

79.

81.

82.

X1

Wijlter Olympics unveiled its official motto

(A) TOsetheJ for sports

(B) Together for a shared future

(C) Together for healthy environment
(D) Together for healthy future

Whmhonemnotthelang\.mgeofmtermt"

(A) Perl B) HTML

(C) XML (D) COBOL

Rahul told Anand, “Yesterday |

defeated the only brother of the

daughter of my grandmother’. Whom did
Rahul defeat ?

(A) Son (B) Father
(C) Brother (D) Cousin

The HCF and LCM of two numbers are 8 and
48 respectively. If one of the numbers is 24,

then the other number is
(A) 48 (B) 36 Eﬁ
(C) 24 (D) 16

In a row of children, Hari is eleventh from tb-
and Manjula is seventeenth from the righ*
they exchange their places Hari willbe ' .eenth
from the left. Which of the following e in the
new position of Manjula from rig’

(A) Eleventh (B) Twenty ninth
(C) Twenty first (D) Nineteenth

maaaMandlengﬂ'llaboutanansperpendimﬂar
to the rod through its center is I. The moment of
inertia of the rod through its end point is

1 I
(C) 21 (D) 41
The Head Office of SAARC is located at 81.
(A) Delhi (B) Dhaka
(C) Kathmandu (D) Colombo
Rhizobium fixes 82.
(A) Neon (B) Nitrogen
(C) Argon (D) Hydrogen

| .l 2.
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76.
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75, fim Afefew 3 e sl s =

TE R

(4) Zret Bk wWE

(B) R ¢ 919E TR

(€) mtﬁumﬁz
(D) Fe Hi Bfcl T

FH-A e A T ?
(A) Perl (B) HTML
(C) XML (D) COBOL

77. TGS A AFE F F1, w4 3 90 T A g F

THAN WTE ) AT | Uge A ol g 2

&) ®) foan

() wié (D) == 9§

A demsll # ggew gENEds R @ga
gmae w9u: 8 3l 48 8 | AR o wEm 24 R,
< gul dem w1 7 P
(A) 48 T

(©) 24

(B) 36
D) 16

T @ wEdl & | 99 @ mmmizgm
ot &ft and & deeat & | Frafefaa # @ @S-

;ﬂzﬁﬂmtﬂmm?

w
(A) mrEal (B) 3deat
(C) Thraat (D) Fefrat

FaH M 3R dar | Jrefl & Yacl @HF S H
a1 Toed B8 & 33 § 70 qaad T AW 1
2 | 3u% sifow firg A yoe wga e R

I I
(A) 1 B) 3
(€) 21 D) 41
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(C) FHY, (D) Fiewt
Wﬁ{mi ;
&) (B) G
©) (D) TG




88.

87.

90,
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N 18 (pSs—

iSpirit ig
(A) A think tank fi
ort i
Productg indual;yhe {odian “ltware
(B) A think tank for tp, Amey;
Products industry - SOftware
(C) A think tank for the
hardware products industry

(D) A think tank for the [ng:
products industry Sl hardware

Amerimn

The United Nations declared the Yyear 2020
as

(A) The International Year of Soils IYS)
(B) The International Year of Pulges IYp)

(C) The International Year of Pl
(IYPED) of Plant Health

(D) None of the above

This Haryanvi sportsman received Dhyan
Chand Award 2020 for wrestling
(A) Om Prakash Dahiya
(B) Netarpal Hooda

(C) Satbir Singh Dahiya
(D) Jagminder Singh
How many odd days are there in 302 days
X

C) 2 T
'(['h)e Reserve Bank of India Natmnalwed in
the year 1949

(B) above
Sim B

In a certain language,
means ‘he is eating mal?":n 1
qua’ means ‘he sells toy 5 Whi a5 woﬁ}‘
sura’ means ‘T like ma'ns‘?e nl'l pangoes
in the language mean he & ' :

] . ul' 7 i
(A) ‘xag’ and ‘sura (B) ‘:”, nd ‘de¥
(C) ‘dew’ and ‘sura’ ® ke
The H.F.C. of 0.54, 1.8, (%f;' ﬁ;‘s
(A) 1.8 5

® o

(©) .018 % ;
SMC curve cuts the AVC * rve 9P
.t of AVOC O i~
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t
pomn (B) Maﬂmum - L4

(A) Lower Mini™
(©) Mid @ %
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©) by i e g
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g T A ¥ 2020 T T w9 3 i fay 7

(A) T T o (7.3 vw.)

(B) @l 1 it ad (s aw,)

(C) TRY T T i af (3.,
dt.a.)

(D) IR | | #I§ 7&

By fame faendt = gt & g amsk

R 2020 firen ?

(A) 30 w2

(B) aﬂ““aE!' i

(C) weafit fig afean 73

D) i fire kK

302 ot & fre R R & 7

A) 0 (B) 3

© 2 D)1

Wi fod o o R |

(A) 1954 (B) 1949

(©) 1956 ©) v AHd

U Fifvsa s #, ‘dew xas huma sura’ 1 ant

Rheis eating mangoes’, ‘dew tepo qua’ %!
‘he sells toys’ 3 ‘sut time sura’ i &

T like mangoes’ | W1 § -8 TR H it

‘he’ ‘mangoes’ ?

(A) ‘xas’ 3 ‘sura’ (B) ‘sura’ 3 ‘tepo’

© ‘dew’ 3 ‘sura’ (D) ‘xas’ 3 ‘dew’

0.54, 1.8, .36 31K .9 1 Ewq GHNEIS &

o e g
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91.

92.

93.

94.

95.

X1

t. You hﬂVlB to

g 1 in i
error or jdiomatic error nd choose

find out that part of the sentence & s
the alphabet of that part as your an :

I don’t know whether Karthik is

equally good as Sanjay.

(A) Idon’t know

(B) whether Karthik

(C) is equally good

(D) as Sanjay

Fill in the blank with appropriate form of the
verb from the alternatives given below them.
By next July, we living here
for two years.

(A) shall have been

(B) will

(C) will be

(D) shall be

Give one word substitutes for the
following from the alternatives
given below them.

Not large enough in amount or
size, meagre

(A) Sovereign

(B) Solemn

(C) Slander

(D) Skimpy

Add suitable question tag to the following
from the alternatives given below them.

He isn’t a strong man, L

(A) does he (B) doesn’t he

(C) wasn’t he (D) is he

In the following questions, you are required
to give the names of the places where the
noun subject is kept, grown or ma,
the following with the help of thea
given below them :

Provisions are kept in the

(A) Zoo (B) Pantry
(C) Aviary (D) Kiln

de answer
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